Visible Light Cavity Update

Peter Carney
10/16 - 10/23






Maximum Circulating Power

VLC Finesse Levels

If we just model the cavity with 0,095 140
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Mode Matching Telescope Layout

Input q parameter: 0 + 2.57-107%
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Three Mode Matching
Options: Option 1

f1=0.25m
f2=0.5m

Space I =0.18m
Space 2 =0.525m
Space 3 =0.57m
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Option 2

f1=0.15m
f2=0.4m

Space 1 =0.14m
Space 2 =0.53m
Space 3 =0.18m

Telescope 2
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Option 3

f1=0.25m
f2=0.4m

Space 1 =0.18m
Space 2 =0.27m
Space 3 =0.385m
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Tried A La Mode Code first.

So far, only works for 40m at Caltech
— Need to configure 1t for VLC
— Receive errors when changing components

LI W | we s 4 WAILAD UIvE
' Files i MM_AS_OMC.m X | beamPath.m beamg.m component.m
Name » ¥ /MATLAB Drive/MM_AS_OMC.m
B 27 [ % Layout starting from SRMAR to OMCIC
— alm.m
28 % Input arguments:
D beamPath.m 29 % flatMirror(z, label)
ki beama.m 30 %  curvedMirror(RoC, Z, label)
& 31 % lens(focallLength, Z, label)
ity Cmpcreitn 3 spacel = 0.2;
dsxy2figxy.m 33 space2 = 0.4;
D fminsearchbnd.m 34 ASpath.addComponent (component.lens(0.05, 0, "Lensl'));
35 ASpath.addComponent (component.lens(0.15, spacel, 'Lens2'));
MM_AS_OMC.m 36 ASpath. addComponent (component. curvedMirror(-0.4, space2, 'ITM"));
37 ASpath.addComponent (component.curvedMirror(@.4, spacel+space2+0.52, "ETM'));
38
Workspace i 39 %%

i Name i \mlie i: 5izy Command Window

AS1list 1x1 compo... 1x1 | New to MATLAB? See resources for Getting Started

ASpath 1x1beamP... 1x1 |Error using beamPath/findC Index

[H Lambda... 1x18double  1x18 Couldn't find component with label: AS3

[ Lambda... 1x17 double  1x17| Epror in beamPath/chooseC (line 1677)

m\rrorL\ 18x1 comp 18x1 pathin.findComponentIndex(compLabels{jj}); %this will return an error if a component doesn't exist

mirrorLi 17x1 comp. 17x1

FJaseed  0.1200+0 x1 [pathListTo;g‘IapList] = ASpath.chooseComponents (. . .
A q_trot 02750 +0.... 1x
FH spacet 02000 1x1
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